® 2+55cm, 2557 cm? @ +3cm, 3V3rem?
® V50cm, V55mcm? @ +/35cm, 3V35mcm?
® +55cm, 3V55mcem?



rO]r

T 790 Wolvh 30v3 e Beha ol e?

i

D 2vI0 @ 3Vi0 @ 4Vi0 @ 5vi0 ® 610



3. th& % 9% 0(0.0) 2] A} by ® He?

@ A(-1, -2) @ B(1, -1) ® C(2, 3)
@ D(V2, 1) ® E(-2, -1)



4.

ot B AAAg e Hol7k AR e 2L

Q

©

©
S

7k=e] o7k 2v2 oL, tizpA €] o)k 42 <

4142t

AlE0] Zol7} 6 o] 2, ezH4l o] o7t 83 &)
A7+
7he o] Aol7} 245 o] 3, Alze] Aol7} 4 9 A7

iz o] Aoz} 14 o] 3, Ao Zol7}12 ¢l

4421

OO ©06 00e ®oe 6066




5. TFS 2389 HAMAA V- ABC oA =o] VH v
7F2+6 & wf, HArEA Q] Hu]=?

@ 6 @ 6V2 ® 18 @ 18v2 O 322



10

o
=

Holl A H2152] Zol7F 8em ¢

S
=

ot

6.

ch



